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WEST BENGAL STATE UNIVERSITY
B.A. Honours 2nd Semester Supplementary Examination, 2021

PHIACOROAT-PHILOSOPHY (CC4)

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. fifes JFT FGZ TG 2T e T 1
Candidates should answer in their own words A [T @R T2 FEGT AT N
and adhere to the word limit as practicable. es FEE |

Answer Question No. 1 and Question No. 2 and two mor e questions taking
one from each group

SR GARR R 93 Rl F° @ ‘X (AT Wb IR e e =ieal 1f5 efvaa e
we
1 Answer any five questions from the following: 2x5=10
feraterare @-cwieat =5 aess T niss
(8 Writetwo limitations of Existential Instantiation (E.1.).
e FRIBFAE (E.|.) Moz 1t Amaare! el
(b) What isanormal form formula?
Rfzow 5@ F 2
(c) Distinguish between free variable and bound variable with illustration.
& AIZF @ 7 AR(F W& #A147 1RIee N e
(d) What isvariable?
&2 OIF T FI (RN 2
(&) ~ (X)~Mx=(3x)~Mx: Isthe sentence true?
~ (X) ~Mx=(3x) ~ Mx : @2 T {5 775
(f) Givetheform of method of Agreement.
SR oo SARF (e |
(g) “Causeisused mainly in three senses’ — What are the three senses of the word
‘cause’ ?
‘TR (F eTos font sl IJR2F I 21 — @2 foafls =il i f& 9
(h) What is Scientific Induction?
(RGeS FIE 6 2
(i) What isthe Addition Theorem of calculating probability?
STEIRTS! AT Q@NCa 34 it e
(1) What are the differences between propositional function and truth function?
AICTF QR FGICATCIA 2ol T Sl
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Answer any two questions from the following:
fersferie @-ceie 75 elcs Tea wies

(8 What isthe need for quantification?

TR eEaTe [ ¢

(b) Symbolize the following sentences by using quantifiers, variables etc. (any two)

e arpefers mae, Afens Bt AR aemiiie sl (- 715)
(i) Some horses are gentleif they are well trained.
CRICA (I (0! 1@ 231 A wial Tofges el #1311
(i) Writers and readers both are kind.
1L GR AT TSR W@l |
(iii) Men and men alone are rational.
WG @R (FIETG AL Jfarghes™ia |
(iv) What is simple predicate?
73 fCeE e 0 2

(c) Explain with example the Method of Difference and show its form.

TriZEe 8 WFIF TN IS e i Fe

(d) Briefly discuss aprior theory and relative frequency theory of probability.
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Construct formal proof of validity of the following:
wEfeTe Yewltr wiwimere @l e Fle
() (MK (X xR

(X)X x-(Zx-~Ax)]

(X)[Wx>1)o5(Bxo AX)]

S (3 (Zx-~Bx).

(i) Any author is successful if and only if he is well read. All authors are
intellectuals. Some authors are successful but not well read. Therefore, al
intellectual s are authors.

F-CHICA THFE FFe ZA M GR (91 A FAG® 2o | 7 @132 Jandi,
g (12T 7o g Foife 2o | @Al Pe] @& IIIR (515 |

Determine the invalidity of the following argument by the method of truth value
assignment:
FoJel) SR 2l fcae feraler eiezer e s
(i) (XN[Ex-(IxvTx)]>~SX]
(3x) (Ex-1x)
(3X)(Ex-Tx)
S (X)(Exo~Sx)

5x2 =10

5x3 =15

5x3=15
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(i)

(X)[(M x-Nx)>(Oxv Px)]
(X)[(Ox-Px)>(QxVv Rx)]
2 (X)[(M xvOx) o Rx]

(iii) There is nothing made of tin that is not cheap. No rings are made of lead.

Not everything is either tin or lead. Therefore, not al rings are cheap.

o ffife @ @i g2 (2 1 7% 731 ieat wikfbE Fe [fife w91 @sw 77

@, 71 552 =7 o A1 e | oar Feet ok f5R 7wt w3

GROUP-B
freia-4

What is a hypothesis? What are the criteria used in judging the worth of a
hypothesis?
2% J 9 (I, (T TS 2P S0 617 27 9

Calculate the probability of the following:
fesfeifs woaieler TeRret “ifasie s

(i)

(i1)

(iii)

N.B.:

What is the probability of getting either a3 or a5 or a 6 from a single
rolling of adice?
@3 O b @R Wi e ©, ¢ T Y HTF TSRT©! F 2

An urn contains 5 red balls, 7 white balls and 3 green balls. Another urn
contains 7 red balls, 5 white balls and 3 green balls. If single ball is drawn
from each urn, what is the probability that both the balls are of same
colour?

f6 siitaq «foce ¢ @ 39, afb 7l 751 @ ©fb T_w 791 Wiz &+ G 7ieg
4f6 e @, ¢ 6 Al 7o ¢ ofb Fige T&1 =R “fia 76 ([T 9 1 el qio
eI QP8 ACET EAR AT ' 9

If three cards are drawn successively from a deck of cards, what is the
probability of not getting any ace in three drawn?

G35 SIR IS (AF 2797 o Ot e et fomaisz Gat =1t Atead
QTS F© 9

Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Sudents are strongly advised not to submit multiple
copies of the same answer script.

5+10=15

5x3=15



